ROMANIAN MATHEMATICAL MAGALZINE

Ifa, b,c > 0 then:

c a b
ab -2b + bc-2¢c+ca-2a > 2(ab+ bc + ca)
Proposed by Daniel Sitaru — Romania

Solution 1 by Tapas Das-India
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— (Zac . Zab . 2bc)ab+bc+ca — Z(ab+bc+ca)'(ab+bc+ca) =2

c a b
s ab2b+ bc-2c+ca-2a>2(ab+ bc+ ca)

Equality holds fora = b = c.

Solution 2 by Khaled Abd Imouti-Syria

c a b ?
ab -2b+ bc-2c +ca-2a > 2(ab + bc + ca)

ab [4 bc a ca by ?
€1= (ab + bc + ca> (Zb) + (ab + bc + ca) (ZC) * (ab + bc + ca) <Za> =2

By using weighted AM-GM inequality
1

e = ((Zﬁ)ab : (z%)bc . (zg)ca>m

1
e, > 2(ca+bc+ab)-7(ab+bc+ca)
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Equality holds fora = b = c.



